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Third Semester
Civil Engincering/CTM
Scheme OCBC July 2022
BASIC SURVEYING
Time : Three Hours Maximum Marks : 70

Note : )  Attempttotal six questions. Question No. 1 (Objective type) is
compulsory. From the rermaining questions attempt any five.
T B: W g BN He @E 1 (RFE FER o)
A & 1 A weEl A} Rl of @ g AR
m Incasc of any doubt or dispute, the English version question
should be treated as fina),

Wﬁm&ﬂ%mmﬁiﬁ%ﬂaﬁﬁﬁw?ﬁ
" @ fdm g SR

1. Choose the correct answer, 2 each
T8 IR & gaT Hifw
1)  Theleast count of levelling staff is
(a) -0.005m (b) 0.5m
(c) 0.05m (d) 0.005m
AT W% &1 Heqaq 9P BTl 2
(31) —0.005 =t. () 0.5 =,
(F) 0.05 4. (%) 0.005 #.

D) AsperlS 1942-1970 number of links in 30 m chain is
TR TS 1942-1970 & 38R 30 fiex A A9 § i

e g
(@) 300 (b) 200
(c) 150 (d) 100
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i)  Anangle measured between true bearing and magnetic bearing

ofalincis called
(a) Localattraction (b) Closingecrror

. (c) Magneticdeclination (d) Dipofncedle
R Yan & aered Repar aun gty Re & da & a

T PEd 6
(1) wurfla s (7) w9 Ffe
(9) gadly Repym (=) g3 & feu

The temperature adjustment of a dumpy level are

) Centering :
II) Levelling

IIT) Elimination of parallax

The correct order is

= st daa ¥ arurh wEeE B B @
D F=m

I Jadeftaor

) W R HA

g9 fosaral &1 @E @9 8m
(a) I, ILIII ) ILIILI

(c) ILLII (d) IL, I, I
The sum of the interior angles of a closed traverse is

U g 9@ & RS Do &1 an g @
(a) (2n—4)*x90 (b) (2n—40) x 90

(c) (n—4)x90 (d) (2n-4)

Write the number of links and length of engineer’s chain and

Gunter’s chain. 2

SoflfR 9 w@ e A9 6 Sfeal H wen @ arg fakeg

Define surveying and levelling. What is main objective of
surveying? 4
Fdemr 3R aRew @ aRuRa HRI Fa0r o1 g el Fa
87
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c) Aol distance of 2000 meter was measured by a 20 m. The

length of chain was correct at the beginning but was found 1o be

6 cm too long afler measuring 1500 meter and 10 em too long at
the end of 2000 meter. Find the actual distance. 6

U 20 e 7 TR 2000 Nex A gt g0 e w8 v A A
A T T e AR 1500 MR B Gh TR H v W
am.mmmnﬁﬁhmﬁmmm@m%
qaam%ﬁlﬂ%.aﬁmssﬁiwrﬁ@mﬁmqaﬁmiﬁml

3. a) Ifbackbearing ofa line is S69°30'E. Write fore bearing. 2
7t el @1 o gew Regwm S69°30°E # o sam am Raa™

ferRam
b) Explain step by step procedure of doing temporary adjustment
of prismatic compass. 9

el T & sremf) wive R @ prEr Tl

c¢) The following bearings were observed while traversing with a

compass, 6
Line FB BB |

AB 203°30’ 23°3Q'

BC 285°0" 103°30'

CD 32°45' 213°Q'

DA 99°30' 280°45'

State which stations were affected by local attraction and
determine the correct bearings.

@ Rewas 6 wewar 3 Frefaies Ream R m 21

¥E 3w fepmmH EEG]

AB 203°30’ 23°30

BC 285°0' 103°30'

CD 32°45' 213°0

DA 09°3()' 280°45"
-1 R v s F i 2 ek v R @)
Fuifa ™|
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ou understand by Reduced level?

Whatdoy
7 al

4. n)
Yoyt o W 3 adl w87 |
b) Namecthe axis of dumpy level and give the relationship b,_.m,ﬁ:

them. N
aaﬂéﬁﬂameﬁasm%wwhmnmu%|
The following readings were taken with a dumpy level.
0.765,2.120, 1.545,0.930, 2.250,3.475,0.835,1.370,2.124

1.230 and 1.545

Enter the readings on a page of level book. [fthe stalf was shifieqg

after 3™ and 7'M readings, calculate the R.L. of all stations by
cthod. Assume sutable R.L. of 1% station,

height of instrument m ‘
=f} daa & wEgar | AEfRed goTd ferq ma
0.765. 2.120, 1.545,0.930,2.250, 3.475,0.835, 1.370, 2.125,

1.230 3R 1.545
ﬁaﬂﬂad:ﬂﬁﬁtﬁmaﬂhﬁaﬁrnﬁﬁﬁﬁmuﬁmﬁm
£ e dved 7 wad viowd & aig aRafdd A 1 & @ i
Rl ¥ g wur adt 6 mor I A Furg R |} s

Hiftrel wur RaF ¥ STE GFF del JF A

Why brass tags are used in a chain?

5. a)
¥ § dlaq & o0 74 o 9 87
Differentiate between Rise and Fall method and line of collimation
4

method.
SaR-ugE Rt @ wum a1 A § sikR e R
How measurement of area is done using digital planimeter? 6

c)
Rfiea wrifier ) vEaa & &wd O a1 HA H At 272

List down the sources of different types of error in compass

survey. 2
Reaes wdemn ¥ Seaw g archt RfE wer 6 Ffeal 3 At
What do you understand by reciprocal levelling? 4

IR TAYT ¥ A TN [A 87

Write down the characteristics of contours. Draw contours
6

representing a hill and pond.
woren Yaral & aikfe o R W@ @ Rl @ aeE @

e NG FARA| .

F/2023/7367

c)

Contd.....



[5]

2 W wmap_nuhmtmnﬁnn:nmrkmliuvcﬂcdunnpnsmmiccmnprm? 2

Moa REYEw N aroms o= w el A 87

b)  Desenbedifferent types of Benchmarks.
et B RAWNE gaR) @ afg iy

¢) Fromthetopographical map the arca enclosed within the contour

lines are follows.
Contours (m)

Calculate the volume of water in the reservoir.

300

265
260

Area (sq.m)
29750
26850
21050
18500
13440
8750
5180

135
30

6

U i 7@ ¥ Areafafea s (e W) & 83w

ferg

M|

I ()
300
295
290
285
280
275
270
265
260

8t (fiex?)

29750
26850
21050
18500
13440
8750
5180
735

30

S ¥ WY O @1 s s i
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8. a) Whatdo you understand by local attraction?

g el | Y T FHE 87

b) Differentiate between. |
)  Truemeridian and magnetic meridian
i)  Magnetic bearing and true bearing
IR W Hifm
) TurR! TR @ gEdg grER
i) gedm Ry @ gurl Ream

c) Wnte short notes on any three.
i)  Baselines, check line, Tie line

)  Obstaclesinchaining
m)  Whole circle bearing and reduced bearing

v)  Tiltinglevel

v)  Flylevelling

vi)  perpendicular and oblique offsets
fgt i R wfd Ruoh RiRaw

) IMUR W@, S ¥, o ¥
) AT A M ae sy (amun)
i) PIgH R v Yoy R
V) Ho[E olad

V) TS Adfon

v) @9d 9 fiRe o

P .
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